TRIGONOMETRIC EQUATIONS INVOLVING ANGLE FORMULAE
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TRIGONOMETRIC EQUATIONS INVOLVING ANGLE FORMULAE

1 Solve:
(c) 3tan20=2tan6,0<0<2x (d) tan@+2cotf=3,0°< 6<360°
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3 Solve: (a) cos2xcosZ—-sin2xsinZ =
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5 Solvetanf#=sin26,0<60<21
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6 Solve cos’@=2cos’ —Q, 0° < 8<360°.
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7 Solvesin3x cosx - cos3xsinx= —‘[Zj 0<x<2n
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9 Solve for 0 < @< =, the equations:
(@) sin48cosB=sin360cos26
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10 Solve for 0 < x < 27, the equations:
(a) 2cos(x+g—) cosx=1 <= m(ﬂ%}mv,:
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11 Solve for 0 < @ < &, the equations:
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12 Solve for 0 < x < 2x, the equations:
(@) sin2x-—sinx=cos2x - cosx
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